


vertices

vl: (209,55)
v2:(325,83)
v3: (259, 549)
v4: (119,533)
v5: (486, 259)
v6: (435, 144)
V7. (-42,374)
v8: (16, 465)
v9: (-40,201)
v10: (383, 484)
v11: (480, 383)
v12:(49,109)

aristas

vl --> v12 Peso: 1
vli2 --> v9 Peso: 1
vl --> v/ Peso: 1
v9 --> v7 Peso: 1
vli2 --> v8 Peso: 1
v8 --> v7 Peso:
vl --> v4 Peso:
v4d --> v9 Peso:
v4d --> v8 Peso:
v3 --> v7 Peso:
v4d --> v3 Peso:
v9 --> v10 Peso: 1
vli0 --> v8 Peso: 1
vli0 --> v3 Peso: 1
vlil --> vl12 Peso: 1
v4 --> vll Peso: 1
vlil --> v10 Peso: 1
vl --> v5 Peso: 1

v6 --> v8 Peso: 1

v3d --> v5 Peso: 1

vlil --> v5 Peso: 1
vl --> v2 Peso: 1

v2 --> v9 Peso: 1

v3 --> v2 Peso: 1

e e



vlil --> v2 Peso: 1
vli2 --> v6 Peso: 1
v7 --> v6 Peso: 1
vli0 --> v6 Peso: 1
v6 --> v6 Peso: 1
v2 --> v6 Peso: 1



